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OO0 ®BUHl 05(0.018—0.023ppm), NO2(0.026—0.027ppm)
PMio(42—6148/m)2 SIt, CO(
S0O2(0.005ppm)= B3 1S

OO0 &3 S0IHI NO2(0.020—0.027ppm), PMio(45—614g/m")
Z I, S0(0.007—0.005ppm), O3(0.027—0.023ppm)= 24,
CO(0.5ppm)= H3E 2SS

OO0 MUY UDIE2s s<(UD)

So/J S

Pb(0.0636—0.05404g/m" )= 24, Fe(1.0235—1.8093ug/m’),
), M

Cr(0.0056—0.06824g/m"), Cu(0.0271—0.03294g/m"), Mn(0.0619

—0.10264g/m"), Ni(0.0059—0.0225¢g/m") S St
OO0 = sd4 MUl

0.6—0.5ppm)= 24

- o4,

03(0.012—0.017ppm), PMyo(54—74ug/m' )2 FOt

S0»(0.003—0.005ppm), NO2(0.029—0.028ppm)= 24
CO(0.6ppm)2 24 &

® BYIE AN : Pary

2R Y| IERN FII

OO0 SAIGIISEE

NOz(1hr, 24hr)J|E =1t : 24, 53|(&8& 6, 1038])
ot

PM10(24hr)JI =1 : 425(XM¥ 03])

Os(8hr)JI == 1t D 13(HE 03l)
@® U287 (CAID : LA T2 = BS AENQ Tt
80.8%2 EAIZAOZ FMBI(93.0%)HHI & 12.2% BT LA LIEt
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FAET DA *Yk: ¢¥
T SO, (ppm) | NO; (ppm) | Os; (ppm) = CO (ppm) | PMi (1g/m)
20093 2¥ 0.005 0.027 0.023 0.5 61
20083 2¢ 0.007 0.020 0.027 0.5 45
2009 1€ 0.005 0.026 0.018 0.6 42
JAUE T2H QAT Hgt
T SO, (ppm) | NO; (ppm) | Os; (ppm) | CO (ppm) | PMi (1g/m)
20093 2 ¥ 0.005 0.028 0.017 0.6 74
20093 1 ¥ 0.003 0.029 0.012 0.6 54
2008'3 12¢ 0.004 0.033 0.010 0.7 72
200949 238 TAIUDIZE)|E i
EYeR O3 PMio NO2 CO
- 1AI2 8Al2t 24 Al 2t 1AI2 24 Al 2t 1AI2 24 Al 2t
S8E 0 0 2 0 0 0 0
sraiy | SSE 0 0 5 0 0 0 0
=T HANS 0 0 4 0 0 0 0
=N 0 0 1 0 0 0 0
RS 0 0 2 0 0 0 0
OREA S4S 0 0 3 0 0 0 0
AES 0 0 2 9 0 0 0
Al CHots 0 0 8 0 0 0 0
NES 0 0 4 0 0 0 0
ZIBH Al a3= 0 0 2 0 0 0 0
= SHS 0 0 4 0 0 0 0
WA e 0 0 1 0 0 0 0
OF AFA| 52 0 1 0 7 3 0 0
S 0 0 0 8 2 0 0
ot=s | ot=S 0 0 4 0 0 0 0
&3 A sz 0 0 7 0 0 0 0
A 0 1 49 24 5 0 0
20094 28 =34 Y SEMII2BE X+ HCHE
(AIZERZEIIE, &2 %)
e 0] A OF&FAI SN
T EENRCA) Jigmyz | sus wuns sNs RS | =os azs Oos | MBS
0~50 14.43 6.85 8.33 14.73 10.12 13.10 12.50 0.00 0.00
51~100 72.62 68.90 75.45 75.15 75.45 70.68 67.41 73.21 85.42
101~150 10.42 18.15 11.16 7.14 12.05 13.39 14.73 19.35 11.76
151~250 2.08 4.46 417 1.79 1.64 2.23 3.72 6.70 2.38
251~350 0.45 0.60 0.89 0.45 0.60 0.60 0.60 0.74 0.45
351~500 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00




| smgy | @A 2l Al LAl siE=z  maEsw
TE #NACN) ams  sas | aws | =ws | sas  sss | was
0~50 8.63 2.23 17.11 6.55 14.73 3.87 417
51~100 74.55 80.06 68.60 58.18 57.74 80.65 71.58
101~150 12.20 16.22 12.65 29.61 22.92 10.71 17.26
151~250 3.87 1.34 1.64 5.06 4.32 4.02 6.25
251~350 0.74 0.00 0.00 0.00 0.00 0.74 0.74
351~500 0.00 0.00 0.00 0.00 0.00 0.00 0.00

@ 16702 (2 5JH, OrA 20K, &= 30H, &SH1JH, 25H 20, L&k 204 ,5tS 1K)

e [ SELAYE | EEXNYE =PNELPN| X9 EHHIWMUEE RAXEZEAl B 1
701 | JtS8s| 28 (LGER 1Z2E 1997.02 1997.02 & A
702 g3 =8 | =4d0lbtet 1999.04 1999.06 & A

= 0|l o

703 A= =H |[EA2s UAMH | 1993.04 1999.04
704 | EXNs | =FH | EXS FLdH 2007.07 2007.07

801 gtz (Ag=X EtS=2 104 2008.11 2008.11
711 SIEEES =1 |=l@1s F=2HEH | 1993.09 2005.09
712 | s g [Sgs FUdy 1995.03 2006.03
721 d==s F | d=ss FEdH 1995.12 2002.12
722 | UHets oy | saJg=2d 1997.01 1997.02
723 | H4E= 8 |[H4A= 1998.01 1998.01
731 dst=s = | Bals Sy 1994.10 2002.10
741 Sas FA | sgs FUdy 1995.07 1995.07
742 | HE=S R ES =) 2003.02 2003.02
751 =2 F | Ofetcflsl 2REXg] | 1999.04 1999.04
752 | S8 | EFH | Sas L2SKsi2| 2004.12 2004.12
761 otsS =X |ots=E 2007.08 2007.08
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=8 =& | (PM10, ug/m')

6] LIILESE g
®© QED YA, UV A3 2E 11~16A1 AHOI0 0.38~0.49, 0.33~0.442

LIEHGESLET10AL 0181 17A1 0122 L= 0.25~0.41,-0.02~0.10= SXiotH Z0i&.

0

@® 11~16A1 A2 WIQESE 2= 2ZE SHA0AM Gt NO. —0.75~-0.84,

CO 2F NO, 0.59~0.752=2 &ar2t2tAHDt JtE = LIEtSHS

o
ISd8s
Correla 11~16Al Xt& 10Al OI&, 17Al OIZXZ
tions | 03 | NO2 | NO | NOX | SO2 | cO |PMmi0| O3 NO2 NO NOX S02 |CO| PM10
03 1.00 1.00
NO2 | EONBd 1.00 EO8E .00
NO -0.57 0.75 1.00 —-0.42 0.58 1.00
NOX | -0.74 0.93 0.94 1.00 -0.61 0.80 0.95 1.00
S02 | -0.10 0.42 0.35 0.41 1.00 0.08 0.22 0.21 0.24 1.00
CcO -0.45 @88 0.68 0.70 0.47 1.00 —-0.42 0.57 0.65 0.69 0.27 1.00

PM10 | -0.10 0.37 0.28 0.34 0.54 0.45 1.00 -0.10 0.28 0.25 0.29 0.36 0.35 1.00
g | -0.13 0.04 0.01 0.02 0.01 0.12 0.07 0.17 -0.22 -0.16 -0.19 0.05 -0.08 -0.15
=25 0.50 -0.51 -0.31 -0.43 -0.11 -0.27 0.12 @ -063 -0.27 -0.43 -0.04 -0.30 -0.03
=25 0.41 -0.20 -0.05 -0.13 -0.14 0.05 0.02 0.41 -0.11 -0.04 -0.07 -0.06 0.14 -0.08
UAZ | OB -0.31 -0.19 -0.27 -0.07 -0.28 -0.04 s -0.10 0.14 0.08 0.15 0.06 -0.10
uv P88 -0.31 -0.22 -0.29 -0.15 -0.32 -0.11 [EON®2 -0.02 0.03 0.02 0.11 -0.02 -0.08




3883
Correla 11~16AI Xt= 10Al OI&, 17Al 012 X2
tions | 03 | NO2 | NO | NOX | SO2 | CO |PM10| 03 | NO2 | NO | NOX | SO2 |CQ |PMI10
03 | 1.00 1.00
NO2 | EOEES 1.00 EOE 1.00
NO | -0.66 0.80 1.00 -0.45 0.60  1.00
NOX | -0.73 0.93 0.96 1.00 -0.61 0.79 096 1.00
SO2 | -0.17 0.47 0.28 0.38 1.00 -0.18  0.45 0.22 0.31  1.00
CO | -026 MW@ 061 063 044 1.00 -0.51 0.60 0.66 0.70 0.34 1.00
PM10 | -0.12 0.48 0.40 0.46 050 0.56 1.00 -0.04 027 026 0.29 0.34 0.40 1.00
=5 | 0.05 -0.19 -0.11 -0.15 0.12 -0.02 -0.03 0.18 -0.18 -0.07 -0.12 -0.01 -0.16 -0.04
Z= | 0.53 -0.54 -0.36 -0.46 -0.14 —0.26 0.10 [ -0.62 -0.30 -0.43 -0.20 -0.41 0.01
2% | 0.37 -0.03 -0.12 -0.09 -0.13 -0.12 -0.02  0.35 -0.03 -0.11 -0.09  0.04 -0.25 0.00
At | @EBB -0.38 -0.19 -0.29 -0.21 -0.01 -0.09 [EB@ -0.18 0.12 0.05 0.07 -0.08 0.02
UV | BN -0.40 -0.21 -0.31 -0.24 -0.06 -0.14 [N -0.16 -0.02 -0.05 -0.02 —0.04 0.00
BMS
Correla 11~16AI Xt= 10Al OI&, 17Al 012 X2
tions | 03 | NO2 | NO | NOX | SO2 | CO |PM10| O3 NO2 NO NOX SO2 CC PMI0
03 | 1.00 1.00
NO2 | EBEER 1.00 B .00
NO |-0.70 0.78 1.00 -0.56  0.63  1.00
NOX | -0.78 0.95 0.94 1.00 -0.73  0.86 0.94  1.00
SO2 | 0.03 0.35 019 0.29 1.00 001 028 0.04 015 1.00
CO | -0.38 MEE 059 070 0.69 1.00 -0.55 0.67 0.74 0.78 0.40 1.00
PM10 | -0.11 0.46 0.33 0.42 062 0.75 1.00/ 0.09 007 011 010 025 0.30 1.00
Zs | -0.02 -0.03 0.02 -0.01 0.05 0.00 0.00 0.05 -0.17 -0.07 -0.12  0.03 -0.10 -0.05
Zz | 045 -0.53 -0.34 -0.47 -0.10 -0.37 -0.23) [@H@M -0.63 -0.36 -0.52 -0.08 -0.49 -0.03
2% | 0.39 -0.03 -0.16 -0.10 -0.03 —-0.03 0.08/ 0.31  0.04 -0.10 -0.05 0.03 -0.06 0.03
At | DEEE -0.39 -0.14 -0.28 -0.09 -0.24 -0.10| [BE -0.36 0.00 -0.14 —0.04 —0.20 -0.03
UV | BEE -0.40 -0.15 -0.29 -0.16 -0.30 -0.15| @@ -0.25 0.00 -0.07 -0.06 —0.13 -0.01
HiA 2
—_— o -
Correla 11~16A1 Xt= 10Al OI&, 17Al 012 X2
tions | 03 NO2 NO NOX SO2 CO PMIO| O3 NO2 NO  NOX SO2 CC  PMI10
03 | 1.00 1.00
NO2 | EBEER 1.00 BNl 1.00
NO |-0.71 0.79 1.00 -0.56  0.69  1.00
NOX | -0.78 0.94 0.96 1.00 -0.67 0.84 0.97 1.00
SO2 | 0.08 0.28 0.00 0.13 1.00 011 018 -0.02 0.04 1.00
CO | -0.41 [HE 061 071 061 1.00 -0.52 073 0.80 0.83 0.28 1.00
PM10 | -0.16 0.46 0.26 0.37 055 0.71 1.00/ 0.00 019 016 019 0.36 0.37 1.00
=35 | -0.05 -0.18 -0.04 -0.11 0.02 0.02 0.03 0.11 -0.24 -0.18 -0.21  0.10 -0.21 -0.03
Zz | 0.60 -0.67 —0.44 -0.57 -0.08 —0.42 -0.10, @M@ -0.60 -0.37 -0.47 -0.03 -0.43 -0.02
&% |-053 040 035 039 -0.07 028 0.11] -0.41 021 028 028 -0.24 028 0.01
2% | 0.37 -0.02 -0.14 -0.09 -0.05 -0.03 -0.01/ 0.39 0.00 -0.10 -0.07  0.04 -0.05 -0.03
UAtZ | BEE -0.44 -0.26 -0.36 -0.09 -0.25 -0.13| @M -0.33 -0.07 -0.15 0.06 —0.19 -0.04
UV | BEE -0.45 -0.26 -0.37 -0.15 -0.31 -0.19| [@E@ -0.22 -0.07 -0.10 -0.06 —0.13 -0.05
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1) OFELHIA(S0.)
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@ LdEZ ZDsTE=E 1920 OFALXIYE0l 0.010ppm, &a ZH3HS0l 0.013ppm
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@® 2EHP sT= 0REXIY0! 0.005ppm, &oll S 0.006ppm2 2 LIEIGS.

® HEUH gaskte 2 Y OOO1|opm = LEtGeH, 83 S& il

N, datse2 A=SASIM 22 210 sE5 UEHY
= S| A =(0H) S2S(0Hat) A3t=(Tal)
23 0.005 0.005 0.006
k=) 0.004 0.004 0.005
dEsd 0.009 0.006 0.011
0.020
ddEA SO, 585
—=2us
0.015 gss ]
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2] O] M2HE A (N0,

0
@® MEUHl BasSIF OREIYEE2 0.001~0.006ppm =Jt, &Kl &
OH, 88 =& 0"l O S2=2 0.001ppm &4, 1 2 XY
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o) OIMI'H XI(PM;0]

® LS X DsTIF EASAMOZ 0160 2020 DAt 2SS, Kol Hstsol A
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@®EHEDF == 59~61g/mM2 AYXY B (65u/m)ECE 22t IS
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= X1
gESa9 A
Ol tiet JIAMASAS] AZAHE AHEH 02 R & UVete|
11~16Al AHOl Xt2= 0.37~0.39, 0.33~0.372 LIEFS2LE, 10Al O & 1t
= Az = 0.12~0.21, -0.01~0.152 S MotH EHE.
SA2HO M22AHI =2 =52 Oz NOEM 11~16Al1 A0l RtE2=
-0.75~-0.800104, 10Al O|& 1 17Al 01F Xt=2= -0.65~-0.822 UEIS2H
A0 o AAZAHE SHE
@® HIIQEEE S CO2A NO2 2#H= E3 A2t A28 2 LIEFLA &1
0.53~0.702 AZHHE EJA2CH, COLt SO0 A&H = 11~16A1 A0l Atg=
0.75~0.84, 10Al OI& D} 17Al OIF XE2= 0.43~0.562 2 & AIZHUIDF A2t40]
1 = LHEISS
11~16Al X2 10Al OI&, 17Al O1ZX2
NO, | NO | Nox | s0, | co [pmio| 0  NO,  NO SO, CO PM10
1.00
1.00 -0.79 1.00
0.82 1.00 -0.57 0.69 1.00
0.94 096 1.00 -0.70 0.86 0.96
0.52 0.32 0.43 1.00 0.00 0.27 0.14 1.00
0.65 0.49 059 0.81 1.00 -0.47 0.68 0.67 0.583 1.00
PM1 0.34 0.21 0.29 0.62 0.71 1.00 0.12 0.05 0.10 0.37 0.39 1.00
= -0.23 -0.25 -0.26 0.00 -0.08 0.03| -0.04 -0.07 -0.04 0.05 -0.02 -0.04
== -0.54 -0.42 -0.50 -0.22 -0.29 -0.04 0.52 -0.70 -0.43 -0.07 -0.49 -0.04
=== 0.18 0.07 0.13 0.04 0.21 0.12| -0.28 0.13 0.09 -0.09 0.25 -0.02
=2 -0.05 -0.18 -0.12 0.01 0.02 0.04 0.26 0.11 -0.04 -0.02 0.09 0.06
U ALEF -0.32 -0.14 -0.23 -0.04 -0.14 -0.03 0.12 -0.17 -0.02 0.05 -0.06 0.02
uv -0.33 -0.16 -0.25 -0.10 -0.22 -0.09| -0.01 -0.17 -0.02 -0.05 -0.09 -0.05
SH0olIs
oOo
Atz 11~16Al X2 10Al OI&, 17Al O1EX2
H % NO, | NO | NOx | SO, | CO [PM10] O NO, NO SO, CO PMI10
1.00
1.00 -0.65 1.00
0.67 1.00 -0.56 0.60 1.00
0.81 0.98 1.00 -0.66 0.84 0.94
0.59 0.45 0.52 1.00 -0.05 0.50 0.27 1.00
0.70 0.57 0.65 0.75 1.00 -0.34 0.53 0.60 0.43 1.00
PM10 0.47 033 039 065 0.70 1.00 0.04 0.24 0.18 0.34 0.47 1.00
= -0.02 -0.11 -0.09 0.05 0.06 0.03 0.30 -0.08 -0.09 0.11 -0.12 0.08
=5 -0.60 -0.38 -0.47 -0.29 -0.36 -0.02 0.64 -0.44 -0.35 -0.10 -0.32 -0.01
=== 0.24 0.10 0.15 0.00 0.26 0.09| -0.46 0.14 0.15 -0.14 0.20 -0.05
=2 -0.05 -0.07 -0.07 0.11 -0.15 0.06 0.24 0.27 0.02 0.24 0.08 0.09
U ALEF -0.29 -0.09 -0.16 0.02 -0.21 -0.02 0.21 -0.20 -0.10 0.06 -0.11 0.02
uv -0.31 -0.13 -0.19 -0.05 -0.27 -0.09 0.11 -0.24 -0.08 -0.04 -0.12 -0.05




11~16Al At= 10Al OI&, 17Al OIFXZ

Os | NO2 | NO | NOx | so, | cOo [PMiol Os NO, NO NOx SO, CO PMI10
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aad

ol

o o> o ot

' H1 R o

(G

e
=
0

C
<

1.00 1.00
-0.80 1.00 -0.82 1.00
-0.73 0.75 1.00 —-0.55 0.64 1.00
-0.82 0.94 0.93 1.00 -0.71 0.85 0.95 1.00
-0.19 0.59 0.34 0.50 1.00 0.00 0.30 0.18 0.25 1.00
-0.31 0.68 0.46 0.61 0.84 1.00 —-0.47 0.70 0.76 0.81 0.56 1.00

-0.02 0.33 0.15 0.26 0.59 0.66 1.00 0.11 0.11 0.11 0.12 0.42 0.39 1.00
0.20 -0.17 -0.08 -0.14 0.08 0.02 0.11 0.28 -0.20 -0.14 -0.18 0.07 -0.13 0.15
0.47 -0.64 -0.40 -0.56 -0.41 -0.47 -0.09 0.67 -0.69 -0.34 -0.52 -0.12 -0.43 -0.01

-0.40 0.40 0.24 0.34 0.11 0.22 0.13| -0.33 0.28 0.16 0.23 -0.13 0.19 -0.08
0.32 -0.04 -0.17 -0.11 0.02 0.00 0.05 0.22 0.11  -0.08 -0.01 0.05 0.03 0.06
0.39 -0.38 -0.16 -0.29 -0.13 -0.18 -0.10 0.177 -0.17 -0.06 -0.10 -0.01 -0.05 -0.083
0.37 -0.36 -0.17 -0.29 -0.15 -0.21 -0.11 0.15 -0.21 -0.04 -0.09 -0.07 —-0.08 -0.08
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6] LIS EY LA
=X e Jaisete 422HE 4HEHE QFS 2 LAE D Uve
~16Al AHOl &f2H =Dt 0.33~0.40, 412 LIEHSESLE, 10A O1 M 1t

17A1 012 &2 H% 0.21~0.25, 0.11~0.1

@® 433 11~16A1 M0l LELDL IILESE ARMHEOsE 42 He=

NO2CO>PM10>S0; =AMZ LEHGCH, NO2t 2@FS| al2tHl=Jt -0.715 UEH.

<
&
!

@ THOLS 11~16A1 AIOl @ZD HDIRASE ARBASE 2SS
NOz>CO>SO>PMI0 &M 2 LIEREOM, NO2H @Z2| A4t -0.708 LIEH,

@& MBS 11~16A1 A0l 2ED HIISASE ARBASE A2HSE
NO>SO>CO>PMIO &M 2 LIERGOM, NO2F @ES| A4t -0.728 LIEH,

@ SISX THet JIAKIERHC] ABRHE AHBH 2ZO| A AAZ, UVELY)
AFBHSOl 11~16A1 AROIS] AFRIXI2D} 0.16, 0.302 LIEFEOLEL, 10Al 01 Bt
17A 01% K29 F2 -0.18, 0.062 SMoHH LOE.

® BES 11~16A A0l 2ED UDIQHSE ARIBRSE A 2=
NOSPMIO>COS0, =M2 LIERAOM, NO2 RZC| ARSI} 0,492 LIEHE,

@® 2t SEAEZ NOY 2ES a&AH=It =) U Olges 28 S 2SO0l
HAE A2 BHEMH, OE LESE =2 S422AHI H2 A2 UEHE.

as=s

A 11~16AI X2 10A OIF, 17AI 0I% Xt&

1= | 0s | NO, | NO | NOx | so. | co [pmio| os | No, | NO | Nox | so. | co |Pmio
Os | 1.00 1.00

NO: [-0.71 1.00 -0.61 1.00

NO |-0.77 0.83 1.00 -0.56 0.59 1.00

NOx |-0.76 0.98 0.93 1.00 -0.66 0.96 0.80 1.00

SO: |-0.14 0.40 0.30 0.38 1.00 0.11 0.29 0.12 0.26 1.00

CO |-0.57 0.76 0.72 0.78 0.54 1.00 -0.53 0.68 0.53 0.70 0.26 1.00

PM10|-0.26 0.38 0.32 0.37 0.49 0.81 1.00 -0.03 0.23 0.10 0.21 0.28 0.42 1.00

& |-0.10 0.05 0.03 0.04 0.11 0.25 0.29 -0.42 0.30 0.24 0.31 -0.10 0.33 0.1
% | 0.47 -0.42 -0.39 -0.483 -0.14 -0.32 -0.02 0.73 -0.46 -0.39 -0.48 0.09 -0.39 0.03
s& |-0.47 0.20 0.10 0.17 -0.03 0.29 0.18 -0.43 0.12 0.06 0.11 -0.26 0.30 0.03
== | 0.27 0.09 -0.14 0.01 -0.04 0.10 0.00 0.36 0.16 -0.16 0.06 0.15 0.08 O0.11
M| 0.33 -0.17 -0.02 -0.12 0.01 -0.17 -0.11 0.25 -0.09 0.10 -0.02 0.08 -0.06 0.07
uv 0.35 -0.23 -0.09 -0.18 -0.09 -0.28 -0.16 0.11 -0.09 0.12 -0.01 0.02 -0.10 —-0.02




Hots

e 11~16AI X2 10AI 01, 17A 01% K12

#a | 0s | No, | NO | NOx | so. | co |pmio| o5 | No. | NO | NOx | SO, | co |PMmio

O: | 1.00 1.00

NO. |-0.70 1.00 -0.64 1.00

NO |-0.80 0.69 1.00 -0.57 0.62 1.00

NOx |-0.81 0.93 0.91 1.00 -0.68 0.91 0.89 1.00

SO, |-0.34 0.58 0.38 0.53 1.00 ~0.22 0.50 0.32 0.46 1.00

co |-0.66 0.67 0.81 0.80 0.69 1.00 -0.59 0.61 0.75 0.75 0.62 1.00
PMI0|-0.21 0.36 0.23 0.32 065 0.55 1.00 -0.02 0.22 0.12 0.19 0.42 0.37 1.00
Z8 [-0.45 058 0.42 0.54 020 0.28 0.08 -0.56 0.44 0.37 0.46 0.16 0.35 0.00
Z= | 0.46 -0.37 -0.38 -0.41 -0.34 -0.39 -0.20 0.70 -0.39 -0.32 -0.40 -0.14 -0.39 0.02
=13

2% | 0.18 0.13 -0.09 0.02 0.01 -0.09 0.05 0.25 0.24 -0.02 0.13 0.14 0.01 0.11
22| 0.33 -0.12 -0.13 -0.14 -0.05 -0.17 -0.03 0.21 -0.05 -0.04 -0.05 -0.01 -0.05 0.12

UV | 0.37 -0.20 -0.20 —0.22 —0.15 —0.25 —0.07 0.12 —0.11 —0.02 —0.07 —0.10 —0.06 0.02
A

A 11~16AI Xt2 10AI OIF, 17A 0I% Xt2

M4 | O: | NO2 | NO | NOx | SO, | CO ' PMIO| O NO. NO NOx SO. CO PMI0

O: | 1.00 1.00

NO: |-0.72 1.00 -0.52 1.00

NO |-0.63 0.67 1.00 -0.35 0.55 1.00

NOx |-0.74 0.95 0.87 1.00 -0.52 0.96 0.76 1.00

SO, |-0.44 0.59 0.47 0.59 1.00 0.12 0.24 0.07 0.21 1.00

CO |-0.26 0.47 0.27 0.43 0.47 1.00 -0.27 0.39 0.33 0.42 0.33 1.00
PM10|-0.19 0.41 0.09 0.31 0.49 0.55 1.00 0.28 0.08 -0.08 0.04 0.32 0.15 1.00
Zg | 0.01 0.15-0.05 0.08 042 0.11 020 000 0.29 014 027 050 0.15 0.12
Z= | 0.47 -0.32 -0.29 -0.34 -0.16 -0.13 0.08 0.71 -0.32 -0.18 -0.31 0.24 -0.19 0.25
=13

2% | 0.23 -0.13 -0.13 -0.14 -0.13 -0.07 -0.08 0.35 0.02 -0.10 -0.02 0.30 0.06 0.16
Azt 0.40 -0.14 -0.08 —0.13 0.08 -0.05 -0.13 0.24 0.00 0.01 0.00 0.23 0.04 0.06

UV | 0.41 -0.16 -0.12 -0.15 0.02 -0.10 -0.16 0.13 0.02 0.03 0.03 0.13 -0.01 0.01
()31

A 11~16AI X2 10Al 01, 17Al 0I% Xt2

Ha | 0s | No. | NO | NOx | so. | co |emio| o5 | No. | NO | NOx | so. | co |Pmio

O: | 1.00 1.00

NO: |-0.49 1.00 -0.23 1.00

NO |-0.67 0.66 1.00 -0.36 0.26 1.00

NOx |-0.60 0.96 0.84 1.00 -0.32 0.95 0.55 1.00

SO, |-0.04 0.68 0.40 0.64 1.00 0.26 0.50 0.05 0.45 1.00

CO |-0.15 0.67 0.55 0.68 0.75 1.00 -0.20 0.50 0.26 0.52 0.57 1.00

PMIO| 0.18 0.08 -0.02 0.05 0.24 0.29 1.00 0.16 0.12 0.02 0.11 0.23 0.34 1.00
Z% [-0.10 -0.17 0.01 -0.12 -0.30 -0.17 0.06 0.27 -0.21 -0.10 -0.22 0.02 -0.21 -0.03
Z= | 0.45 -0.01 -0.12 -0.05 0.16 0.15 0.17 0.65 -0.17 -0.14 -0.20 0.17 -0.14 0.10
&% [-0.48 0.16 0.24 0.20 -0.14 0.00 -0.03 -0.60 0.00 0.14 0.04 -0.19 0.22 -0.10
2% | 0.46 -0.03 -0.11 -0.06 0.03 0.04 -0.08 0.45 0.37 0.01 0.32 0.29 0.18 0.05
UAt2E| 0.16 -0.32 -0.06 -0.27 -0.16 -0.09 -0.11 -0.18 -0.45 0.07 -0.31 -0.40 -0.35 -0.28

UV | 0.30 —0.29 -0.13 —0.27 —0.10 —0.08 —0.05 0.06 —0.23 —0.05 —0.21 —0.06 —0.06 —0.17
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D552 UHEHE 2L, 10A1 O8I 17A1 Ol=

F =2 &€=22 0zt NOZM 11~16A1 A0l Xt2=
—-0.68~-0.8201H, 10Al 0|81 17Al O|=F A== -0.78~-0.842 LIEG2H
AIZHO HE XHOIE 201X @10 S a2 HE LIEE.
® HIILE=E = COA NO2 A= 11~16A1 A0l Xt== 0.65~0.76, 10Al
OlMIt 17Al1 Ol XZ2= 0.61~0.8622 AlIZ2H0ll [HE XOIE 2O0IK E2Lt =

@® CO%t SO.9 &2tH+= HollXIZE 11~16A1 A0l Xt=ZJt 0.52~0.772 10Al O
&t 17A1 0I=F 2= 0.60~0.822 & AlZH OHOIl &f2t&40] O =H LEHE LD,
SO EZ2 11~16A1 A0l Kt&2IF 0.31~0.222 10Al OI&F 17A] Ol X=s
0.54~0.58= ZAIZH THOll &f&d€0] O == X222 LIEHE.

o

SAS
Correla 11~16Al Xt& 10Al OI&, 17Al OIZXZ
tions | 03 NO2 NO NOX SO2 CO PMI0O| O3 NO2 NO NOX  SO2 CO  PM10
03 1.00 1.00
NO2 -0.77 1.00 -0.78 1.00
NO -0.56 0.64 1.00 -0.69 0.77 1.00
NOX -0.68 0.81 0.97 1.00 -0.77 0.91 0.96 1.00
SO02 |-0.10 0.42 0.40 0.44 1.00 0.00 0.42 0.29 0.37 1.00
CO -0.58 0.73 0.77 0.83 0.52 1.00 -0.43 0.68 0.56 0.65 0.60 1.00

PM10 | 0.03 0.18 0.20 0.21 0.45 0.44 1.00f -0.13 0.45 0.31 0.39 0.70 0.72 1.00
& | 0.07 0.16 0.08 0.11 0.14 0.03 -0.04, 0.02 0.06 0.01 0.03 0.11 -0.02 0.01
% 0.61 -0.70 -0.55 -0.64 -0.29 -0.50 -0.03| 0.38 -0.61 -0.44 -0.54 -0.30 -0.28 -0.09
=& | 0.19 0.18 -0.02 0.05 0.13 0.04 0.02f 0.35 -0.07 -0.16 -0.14 0.16 -0.13 -0.04
2AtE | 0.32 -0.37 -0.14 -0.20 0.03 -0.20 0.07| 0.49 -0.38 -0.23 -0.31 -0.02 -0.33 -0.08
uv 0.34 -0.46 -0.18 -0.25 -0.05 -0.27 -0.03| 0.50 -0.44 -0.27 -0.36 -0.11 -0.41 -0.16



Atars

Correla 11~16Al At= 10Al OI&, 17Al OI=FXt=
tions | 03 NO2 NO NOX SO2 CO PMI0| O3 NO2 NO NOX  SO2 CO  PM10
03 1.00 1.00
NO2 -0.82 1.00 -0.83 1.00
NO -0.55 0.65 1.00 -0.75 0.88 1.00
NOX -0.68 0.80 0.97 1.00 -0.79 0.94 0.99 1.00
SO2 ‘—0.35 0.53 0.71 0.71 1.00 -0.45 0.77 0.74 0.77 1.00
CoO -0.60 0.76 0.80 0.85 0.77 1.00 -0.62 0.86 0.82 0.85 0.82 1.00
PM10 ‘ 0.00 0.22 0.25 0.26 0.46 0.49 1.00| -0.33 0.64 0.50 0.55 0.76 0.77 1.00
% 0.68 -0.67 -0.43 -0.54 -0.35 -0.51 -0.04| 0.55 -0.66 -0.48 -0.55 -0.39 -0.57 -0.38
s -0.32 0.26 0.22 0.25 0.05 0.30 0.02| -0.52 0.39 0.27 0.31 0.04 0.32 0.11
== | 0.22 0.14 -0.09 -0.02 -0.06 0.03 0.02| 0.31 0.00 -0.16 -0.11 -0.01 -0.03 0.11
2AtE | 0.19 -0.13 0.03 -0.01 0.12 -0.05 0.05| 0.38 -0.30 -0.22 -0.25 -0.09 -0.27 -0.10
uv 0.24 -0.26 -0.06 -0.10 0.02 -0.18 -0.07| 0.41 -0.39 -0.28 -0.32 -0.19 -0.37 -0.21
s73
Correla 11~16Al At= 10Al OI&, 17Al OIFXt=
tions | 03 NO2 NO NOX SO2 CO PMI0| O3 NO2 NO NOX  SO2 CO  PM10
03 1.00 1.00
NO2 -0.68 1.00 -0.84 1.00
NO ' -0.51 0.57 1.00 -0.63 0.78 1.00
NOX -0.65 0.83 0.93 1.00 -0.76 0.98 0.95 1.00
sz | 0.00 0.39 0.19 0.30 1.00 -0.21 0.49 0.36 0.45 1.00
CoO -0.35 0.65 0.60 0.70 0.31 1.00 -0.25 0.61 0.62 0.66 0.54 1.00
pPM10  0.12 0.19 0.09 0.15 0.26 0.40 1.00| -0.05 0.40 0.40 0.42 0.49 0.70 1.00
% 0.47 -0.25 -0.15 -0.22 -0.06 -0.04 0.22| 0.42 -0.28 -0.19 -0.25 -0.20 -0.03 0.17
s 0.74 -0.45 -0.41 -0.48 -0.05 -0.33 0.01| 0.35 -0.39 -0.37 -0.41 -0.23 -0.31 -0.17
=& -0.40 0.11 0.20 0.18 -0.16 0.19 -0.27) -0.58 0.38 0.21 0.30 -0.03 0.19 -0.10
2AtE | 0.55 -0.04 -0.21 -0.16 0.03 0.00 -0.08| 0.49 -0.17 -0.18 -0.18 -0.16 0.02 0.00
uv 0.17 -0.10 0.05 0.01 0.09 0.01 0.1, 0.47 -0.37 -0.18 -0.28 -0.08 -0.17 -0.04
88
Correla 11~16Al Xt= 10Al OI&, 17Al OI=FXt=
tions | 03 NO2 NO NOX SO2 CO PMI0O| O3 NO2 NO NOX  SO2 CO  PM10
03 1.00 1.00
NO2 -0.73 1.00 -0.78 1.00
NO -0.46 0.52 1.00 -0.65 0.73 1.00
NOX -0.60 0.74 0.96 1.00 -0.76 0.92 0.94 1.00
SO02 | 0.06 0.28 0.04 0.12 1.00 -0.08 0.42 0.21 0.33 1.00
CcoO -0.57 0.70 0.74 0.81 0.22 1.00 -0.33 0.69 0.61 0.69 0.58 1.00
PM10 -0.10 0.38 0.35 0.40 0.32 0.54 1.00| -0.10 0.40 0.45 0.46 0.50 0.72 1.00
=g -0.03 -0.14 -0.16 -0.17 0.09 -0.11 -0.16| -0.41 0.20 0.11 0.17 -0.01 0.00 -0.15
2%  0.73 -0.50 -0.33 -0.42 -0.06 -0.43 -0.09| 0.40 -0.48 -0.33 -0.44 -0.29 -0.32 -0.20
s -0.39 0.15 0.22 0.23 -0.32 0.34 -0.03) -0.44 0.39 0.20 0.31 -0.08 0.24 0.00
=5 | 0.48 -0.17 -0.20 -0.22 -0.02 -0.12 -0.01| 0.40 -0.33 -0.21 -0.28 -0.12 -0.09 0.00
2AtE | 0.11 -0.11 0.05 0.01 0.16 0.06 0.16| 0.38 -0.40 -0.20 -0.32 0.02 -0.21 -0.06
uv 0.17 -0.03 0.12 0.10 0.28 0.08 0.27| 0.34 -0.41 -0.22 -0.33 -0.07 -0.28 -0.17




5. l)| 3% &Y 29 Al
Jl. ZAHLHE
O ZAPIZE : 2009 22 9 ~ 12Y, 16~18Y(5Y)

O ZAKIE : 224 ZAHAS SZA, OIA 225 =FHA(20HA)

Lt ZALE 1
11 28 JIZIHL
- 28 DI A2HF 212t 5 J1aaE

SA0| UUSM, YT Lol LHe! HIZ 1620l CHAl AIZF ot 3.

o
0&
i
>
10
H
[
i
£Q
I
R
10
1
10

TE =y 71(C) H%(%) %5 (m/s) | A= (mm)
24 9¢ v, A5 6.5 55.0 1.0 0.0
24 10¢ - 6.9 51.4 2.0 -

24 11¢ uE d5 8.2 50.6 1.4 -
24 12¢ H|, A% 10.3 51.8 2.2 1.0
249 16¥ - 0.6 23.9 3.7 -
29 17¢ — 0.7 21.1 2.7 —
29 18¢Y — 3.3 27.1 2.6

2¥ A - 7.3 55.3 2.0 62.0

& ESRERUX(TSP)Y EasEs 81ug/m(40~141)2 MBHH SIHoHALH
NS (79ug/m)0l S2S(83ug/m)2CH A LIEHS,

@ Pbo E7 5= 0.0540mg/m(XIEE, 22 0.0211~0.0964)2 MEHH| 24
otALl, 2 FEHE0|I &3JI= 0.5ug/m OlotZ B II=2 10.8% ==8.

@ Cde 87 sk= B= S0 dEW SLotH =ESS LIEHY.

@ Crol 873 =s%= 0.0682u8/m(XNEE, 28 0.0489~0.1070ug/m )2 MEHY]

@ Cull 837 =s%= 0.0329ug/m (K&EE, 298 0.0125~0.06671g/m)=2 MEHY]

@ Fell B s&= 1.8093ug/m (KIEE, 2E 0.8062~3.8117ug/m)=2 MEHY]



Stot{l, s&

Ch =H LEE.

s Ba

O

T = 2.16632ug/m2 HANS H 1.4533wg/m 2

Mne E7 sT= 0.1026ug/m (KIEY, LY 0.0475~0.2414ug/m)2 ME HH]
SIlot s
Niel 2 sT&= 0.0225ug/m (KIEE, LY 0.0083~0.0442ug/m )2 &S Y|
20U S
28 sa5 ZAEEL

Ctl @ ug/m

e TSP Pb Cd Cr Cu Mn Fe Ni

Ho18HI=E - 0.5 - - - - - -
9% (1st) 82 0.0471 E2d=  0.0522 0.0219 0.0663 = 1.2679 = 0.0150
102(2nd) 91 0.0682 E2A=  0.0661 0.0511 0.1513 2.3184  0.0342
112(3rd) 141 0.0900 E2A= 0.0667 0.0561 0.1906 3.1783  0.0361
16 (4st) 52 0.0256 E2=  0.0507 0.0150 0.0518 1.2068 = 0.0168
17 (5st) 40 0.0392 E2=  0.1051 0.0204 0.0531 1.0752  0.0106
2009 22 W@ 81 0.0540 = =ZZ  0.0682 0.0329 0.1026 = 1.8093 & 0.0225
ESES 40 0.0256 - 0.0507 | 0.0150 | 0.0518 | 1.0752 | 0.0106
Z 141 0.0900 - 0.1051 | 0.0561 | 0.1906 & 3.1783 | 0.0361
20084 12 T 69 0.0636 = =ZZ  0.0056 0.0271 = 0.0619 @ 1.0235 & 0.0059
2008 122 TR 77 0.0692 = E2A=  0.0158 0.0485 @ 0.1757 @ 2.4701 @ 0.0159

g 88 335 ZAIE

Ctl @ ug/m

e TSP Pb Cd Cr Cu Mn Fe Ni
HNS-1 78 0.0331  0.0011 = 0.0500  0.0147 = 0.0461  0.9392  0.0147
HNS-2 91 0.0667  0.0014  0.0581 = 0.0433 = 0.1403 2.0560  0.0242
HNS-3 136 0.0836  0.0022  0.0597 0.0456 = 0.1397  2.5449  0.0303
HYNS-4 50 0.0211  0.0006 0.0489  0.0125 = 0.0475 0.9203  0.0108
YN S-5 42 0.0328  0.0006 0.1033  0.0144 = 0.0497 0.8062  0.0083
2ots—1 87 0.0611  0.0025 0.0544 0.0292 0.0864 1.5965  0.0153
2ds-2 92 0.0697 0.0014  0.0742  0.0589 0.1622 2.5807  0.0442
=24=-3 146 0.0964 0.0028 0.0736  0.0667 = 0.2414  3.8117  0.0419
2d=-4 54 0.0300 0.0006 0.0525 0.0175 = 0.0561 = 1.4932  0.0228
2ds-5 38 0.0456  0.0008 0.1070  0.0264 = 0.0564 1.3443  0.0128
NsHZ 79 0.0474 2A=  0.0640 0.0261  0.0847  1.4533  0.0177
AsHR 83 0.0606 =£2A=  0.0723  0.0397  0.1205 2.1653  0.0274
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Al
ot AE<2l TSP, Pb, Cu, Cd

SH LEHR 2O, UHA &=2 25 =H LE

0

St
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R0
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LS
M O

{r

2009

Ni

0.0225
0.0145
0.0051

Fe

1.8093
1.7851
1.5237

Mn

0.1026
0.0820
0.0518

Cu

0.0329
0.0600
0.0869

Cr

0.0682
0.0163
0.0075

Cd

Rl
na
IH

0.0015
0.0013

Pb

0.0540
0.0737
0.0418
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